Ramsay Diagram

Similar to Flinn diagram – uses log or natural log (ln) axes.

Advantage: can plot volume changes on it.

Elongation = e

ln a = ln(x/y) = ln[(1 +e1)/(1+e2)]
ln b = ln(y/z) = ln[(1+e2)/(1+e3)]
Using  = ln(1+e) and ln (x/y) = ln x – ln y
ln a = 1 – 2
ln b = 2 – 3

Volume change:  = (V – Vi)/Vi

V = XYZ;

 Vi =1

= V-1
 +1 = V = XYZ = (1 + e1)(1+e2)(1+e3)

Ln ( +1) = 1 + 2 + 3

This can be rewritten in terms of the Ramsay diagram axes:

1 – 2) = (2 – 3)   + ln ( +1) - 3 2
Assume plane strain (i.e. k =1; 2 = 0) on Flinn diagram 
1 –  2 = 2 – 3   + ln ( +1) 

This is the equation of straight line at 45o on the Ramsay diagram. Volume loss and flattening plot in same field!

[image: image1]






lnX/Y





ln Y/Z





Increasing


Volume


loss





K = 1








